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(A) Both A and R are true and R is the correct explanation of A

It is given that the number of subsets of a set containing m elements is 112 more than the
number of subsets of set containing n elements.

2Mm-2"=112

=2"(2MM-1)=2x2Xx2x 2X7

=2"(2M™"-1) =24 (23-1)

n=4andm-n=3

.m-4=3 — m=7

The values of m and n are 7 and 4, respectively.

Radius of circle =2 cm
In 60 seconds, angle covered by second hand is 360°

In 40 seconds, angle covered by second hand is 360°x %z 240°

Angle=Arc length / Radius

Arc length = 8?“ = 12.56 cm.

_OR_
X =2X+ X

tan 3x = tan (2x + X)
tan2x+tanx

tan 3x =
1—-tan2x .tanx

tan 3x — tan 3x tan 2x tan x = tan 2x + tan x
tan 3x — tan 2x — tan x = tan 3x tan 2x tan X
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(i) Di=R-{2, 6}
(i) [-3, 3] OR (-,3]U[3,0)
15 | (i) (-4, 6]

(i) AU (B NC)={1,2 3,4,5,6}
(ii)n(S) +n(P)=11  -OR- Ri=[0, 1)




